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Lesson #) . . .
Solving One Step Equations 1
g p Eq Additisn Je tradion
Solve egch equation.
1. x(+5)=9 2. a+12=16 . 3. ¢c+8=17
—S/|-S Saktracrin
xX+0 ¥4
X =4
4. y—4=3 ' 5.x:? 5 6. b—1=21
U+7 addiHon
X+o ¥ 12
X F12
— 1
7.f+7=12 8. g+2=19 9. t+11 =15
10. s—12 =10 11. ¢c—-16=8 12. a+15=16
13. x+4=-5 14. y+3=-12 115, m+4=—-10
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LQSS()V) #,

One-Step Equations — Multiplication and Division

Solve the one-step equations:

»
7.73
—105 = —5¢
+-S -5  Oiusion
() (1)  muldptiatbon +2) = Ig
TJl= | b
77=b
‘ 72 = —18h

—900 = 10a
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Name:
Solving Two Step Equations | ¢5Son #2 _
T on unl+ Z-
i ! 3x( 4 5)= 35 4 —Subleack | 2 Ba+17247 3. 4x-1=15 + 0.dd
et L + Gtk
3x =30
23 [£3
X = (0
4 3y-5:16 5. 55=6a+7 6. 17=8¢c-7
7. 15x+49=19 8. 75 = 11 + 16x 9.14=12b+8
10. 8 = 18¢c-10 11. 11 = 15m -19 12. 11=16d- 5
3a OMul 4c 7d
13. = =12 14. == =20 , #2180
8 ”hldl‘:‘—a 9 B e 8
16. gles 17 12_§y/ LImatily | 18, gm:30
+dirda
() 6o
4§ = 3y
B =3 ! =3
IG = 2 S




Lestinn, 2. Ay Uaik 2
5

22. X 14213 e 23. ® _9-51 +add |24 95-2 g

3 4 ()m#'pl 7

O matigy J
25, 12:%+3 26. 6m+12-18 27. 9d — | =17
2840"‘,:5 29-4:31"'& 30. %X—5:11 +aaa
C)mu\‘hPLa

3. A 4-13 32. 13- J _5 33 47- W, 7

9 3 S

*Mj o half of the c]aesfions.
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WoRRsheer Solving Multi-Step Equations

~ (Werka<

Name:

Variables on Both Sides - Negative Coefficients

I]g Solve the equations. ‘FQQ X

(1)

34 - 6x = 12 (2)
*.l.lx A(JJ)""U\ ﬂ%x

~eal ¥ |2
+39  AdhHon wifled X

(5)

(9)

-9x - 66 = 86 - x

-Qx [FHb
s -2 DiviSion
113 - 8x = ~14x + 37 (6) ~106 + 15x = 11x + 34
Add B x |
“13x - 34 = 14 - 15x (10) 7x - 43 = 12x + 42
AD 13 x

Date: A'Qt : {/(ﬂ;‘(" Z
J
LeSSon -'&3

AAAX oalx

“

Subtad- Il x

Subhact Tx



Solve for x : Lesson #3

3 8x+4=2x+52 4, 5x-6=8x+30 Ala Unk 2
= ubbme__x Subbruck _“7- X

7. Eight times a number is 36 more than twice the same number. Find the number.

8x = 3L+ 2x
subtmet — x

8. If three times a number is increased by 22, the result is 14 less than seven times the same

number. Find the number. q
Ix+22="TIx —!
Sa btract X

9. Zhoe is comparing two local yoga programs. Hey-Yoga charges $90 a month and a $35 one time
registration fee. Yoga-Bear charges $80 a month with a $75 one-time registration fee. After how many
months will the two schools charge the same amount? What conclusion can you come to about long and short

term memberships? Hey -yog s Yoga - Bear
Let m= #of months Subbrad — X

‘Pa.j (&

fon 3 months - ——— 10~
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DAk : Aljebr&

Solve each inequality.

1)

4)

7)

Flie

10)

~
X+5<6
-5 |-5 Subtmct
x Kl
e
H—AD—
0 1 a
f% I )
4 —

N J
f =X %2 =
-] | =" J(‘\I'\JL

e
Xe-2
. “3 ~% =
X >12
oyl ms
X L2
pic,
13 -1z -t )

2)

5)

8)

lie

11)

F‘ie

@olving One-Step Inequalit@

~
(3(2‘7 3) (x—2>4
23 23 Jivide

xZ3

t J t A }
ke oot 0 8 Y \_

N\

(10+x>17 6) (éx<l7. R

. { t { } %
v \
( R 4
~-X <5 9) -X<16

Fl,?

! — — i

\__ N
%

i 2(’51 12) (_2(_2

-1 FI;Q -

— —
- J \_
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@entifying Inequaliti@

Choose the correct inequality that best describes each graph.

< Lessthan
> 8reach than

(1

-12-10 -8 6 4

-2 0 2 4 6 8 10 12

“\(2

<Lessthan is Lefr )

R e e S R e S
-54

-36 -18

N greater +han —

————+—>

18 36 54

pen ND =

J

)

)

. .h.‘-
X Z —d Sl X< (8
Closed
AN
N\ )
G ————————————>
-18-15-12 9 6 -3 0 3 6 9 12 15 18 -30 -25 -20 -15 -10 -5 5 10 15 20 25 30
N\ J\_
(o )
——t—— > || G
6 5 4 -3 -2 -1 01 2 3 4 6 -24 -20-16 -12 -8 -4 8 12 16 20 24
L
7 (@
————————— 1 1>
30 -20 10 0 10 20 30 2 0 2 4 6 14 16 18 20 22
J\
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Name:

Lesson # S LINEAR WORD PROBLEMS
COMMON CORE ALGEBRA 1

Although word problems can often be some of the most challenging for students, they give us great
opportunities to refine our understanding of the relationships between quantities and how to manipulate
expressions to solve equations. When you solve any real world problem in mathematics you are modeling a
physical situation with mathematical tools, such as equations, diagrams, tables, as well as many others.

As we work through these problems, try to make sure to always do the following:

MODELING AND SOLVING LINEAR WORD PROBLEMS

Clearly define the quantities involved with common sense variables and let statements.

Use your let statements to write out expressions for quantities that you are interested in.

Carefully translate the information you are told into an equation.

Solve the equation — remember to mentally note the justification for each step.

Check the reasonableness of your answer! This could be the most important, and neglected, step in the
modeling/problem solving method.

¥

Let’s start off with a reasonably easy example.

EXxercise #1: The sum of a number and five more than the number is 17. What is the number?
(a) First experiment with somenumbers. \This will help you when going to the abstract with variables.

+ S+ __ =11

(b) Now, let’s carefully set up let statements and an equation that relates the quantities of interest. Solve the
equation for the number.

Le-\— 5_— - 18 :‘."v;ur"r:‘, $2 T

Exercise #2: The difference between twice a number and a number that is 5 more than it is 3. (Ui 5;(
0w\ equatior(y could be used tqfind the value of the number, )X . Explain how you arrived at your choice.

e ~xeE)= 3

P24
t_(']_



Dntes_ Alg
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Le $Son t 5 LINEAR WORD PROBLEMS
COMMON CORE ALGEBRA I HOMEWORK

FLUENCY
3 . The sum of three times a number and 2 less than 4 times that same number is 15.

L(;HZ) -__7-—- e

LL The sum of 3 less than 5 times a number and S . Tom is 4 more than twice Andrews age. Sara is
the number increased by 9 is 24. What is the 8 less than 5 times Andrews age. If Tom and
number? S v Sara are twins, how old is Andrew?

Sx - +x+ . = _

T=4Ha4+2A gk
S= SA -%

/
BRI

| ‘ 2
What 35 TRe number ~

-
 cmm—————

How old is Andrews ?,4: _
flow old P8 Towe 2 T=

How old 1S Sam g O

- (G -
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/\/ Ame :
Solving Literal Equations

Algebra | Lesson #¢ 5 Dﬁ}e A{j}ebr} Um’+ 2

Literal equations are solved like all other equations..all letters are to be treated as
numbers except the letter to be solved.

Example: Solve for X in terms of b and c.

X

Xx+b=¢C 5. ~h=C
-p -b Su bt ction +h +b gc)Ji'Hm

2x= c-b X=c+b

: s { JTSHE s Y

ol A = 2 O’t o (?;) (2) mul'HP lrention

X = C'j AnSwer X = Q(C'Fb)
1) Solve fory interms of B X=-5= B addiHen

by itoelf
2) Solve for X in terms of M, M=2X
Jivision

3) Solve for xintermsof C, X +¢c= 3 it
4) Solve for ) in terms of A - A= _i_( matHp lieation

-3~ L



Mu Histep equafion s

5) If A+2x = 3, then x is equal to:

Subtra chion

Divisien

7) Solve for x in terms of a, b, and c:

9) Solve for x in terms of a, b, and c:

_(;22..

/Hjebm

Lesson F4
ax-b=c
A‘JJIHO»\
Divrsion
X =
7 tA= Y
Subtraction

Ma Hp lication
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" Name:
Unr#2 - Stud GM?JQ l
/4 |3e ra |

PART I QUESTIONS: Answer all questions in this part by writing the choice of the appropriate answer in the
blank beside the problem. Please show all of your work.

1. Which of the following values of x is a solution to the equation “l( X-3 > + 8 = é 8

2. SDlUQ ""’9\.( ‘llwo SW e?ua{)b\’\ ::’X_ +5 s _-7 -

3. Writ a true }Mec'ua\i\-ies wWhen X = -2
X & . AN

X > ____ o

4. T wo times the sum of a number, n, and ¥ is at o5t /0 Which of the following inequalities properly

models this statement? (4 pide +Ais  Statermen +. \
: £ weans

7 means

i
— Means ~

_ Q\S -— = means




Unit 2 Sty e

-~ 5. Max correctly starts solving the linear equation 3 é( +7) ==1 writing ¥ +/ =~ 5 Which of the following

properties justifies what Max wrote?

X+ 1 =-3

6.  Which of the following graphs shows the solution set to 3 X - 7 23
V~0()
GIWYJL' "('p\e So’(ﬂc‘ opern Lice le
og

C[oSeJ ci(‘c,le.

= ! T — ——
L. I SR B why 2
Ciecle  greater than on  Less +Ren

7. Thevalue ¥=8 is a solution to each of the following, except which?

X -4 > 3x R Z(X+-’>>=L‘>“"/°

4
8. Plato was saving [0 each week in order to have enough money for a phone that costs /50, 1f his father
started him off with¥ 30 which of the following is the minimum number of whole weeks Plato will need to

2 .
save! wr‘.‘l on eq (LadHM a,n) SO\UQ .

~6-



Name Date: _Uait 2 Shdy Guide

vy
__ PART IT QUESTIONS: Answer all questions in this part. Please show all of your work. /4 /96 borac

9. The Vohime ofa Co“%s given by the formula \/:.13' ek Solve this equation for the height, h in terms of Vand'r

10. When a number, X is increased by 4 ) and then the result is mu H-lpli'.o/éa 6 is equal to /8
Write an equation and solve it to find the value of x_

11. Justify your response, is the value x=~4 a solution to the inequality Sx - 3 7 (o P s

12. Solve the following equation for x. Show the manipulations that lead to your final answer.

7(X+&) — 3% +4 = (x—5>+(x—3}



Unit 2 S?‘A:jj 6:1&}&

_13.  Algebraically solve the inequality 5)( -14¢ f_ - 9 / 3 x -+ Q)

14. Graph the inequality from #13 on the number line.

15. Give a property of real numbers or a property of equality to justify each step in the solution of the equation
i shown below.

x-8+Ax +1=337

Step 1
Hy +dx -3+ =-31

Step 2

bx-7= ~37

~_ Step3

bx =-3¢
Step 4

X= -5

16. Solve the following multistep equation. — 3% — 4 = ~ 22

—28 -



